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PART-A EXAMINATION- (GENERAL)
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Name of Candidate: Roll No:

9.

This question paper has 50 questions. Each question carries one mark. There are four
choices for answer (A, B, C, D) to each question. Choose the correct answer (one only)
for each question and write the answer in the space provided against each question.
Questions have been set in English. In case of discrepancy, the English version will
prevail.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or
missing pages or questions etc. If so, get it replaced with another question paper, before
question paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking
and (- %) mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is
OVer.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the
examination.

There should not be any cutting or overwriting in the Answer.

10. Use of Unfair Means in Examination will lead to cancellation of candidature.



Q. No.

Question

Answer

The average monthly expenditure of Arun in the first 10 months of a
year is Rs. 4500/- What should be his average monthly expenditure
over the next two months so that his average monthly expenditure
over the year is Rs. 5000/-

(A) Rs. 6000 (B) Rs. 7500  (C) Rs. 7000 (D) Rs. 8500

The price of an article is reduced to Rs. 72 after it is decreased by
10%. What is the original price of the product (in Rs.)

(A) 84 (B) 90 (C) 96 (D) 80

Anil and Amit can complete a job in 12 days working together. Amit
alone can complete it in 16 days. Both of them worked together for
4 days and then Amit left. How long will Anil take to complete the
remaining work?

(A)32days (B)48days (C)30days (D) 36 days

A sum of money compounded annually amounts to Rs. 5,120 in 3
years and Rs. 7,290 in 6 years. Find the annual rate of interest.

(A)7.5%  (B)10%  (C)125% (D) 15%

Find out the wrong term in 4, 31, 130, 349, 728, 1339

(A) 31 (B) 130 (C) 349 (D) 728

9 11 7
5 13 -3
? 10 -4
4 0 ?

N N R o

(A)3and (-2) (B)(-3)and(-2) (C)3and2 (D)(-3)and2

If each of the letters in the English alphabet is assigned an even
numerical value by giving A=2, B=4 and so on, then what
would be the total value of the letters for the word ‘LADY”
when similarly coded?

(A) 74 (B) 72 (C) 84  (D)82
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A statement followed by two conclusions I and II are given below.
Consider the statement and the following conclusions and decide
which of the following conclusions from the statement.

Statements:
I. Demonetisation has evolved need for learning Electronic
Payment System (EPS).
II. EPS will enable people to go cashless and use plastic
money for most of their transactions.
Conclusions:
[. EPS is quick, safe and easy way of transaction of money
from one account to another.
I1. Cashless transactions will further curb the black
marketing of money in upcoming time.

(A) Only conclusion II follows

(B) Both conclusions I and II follow
(C) Neither I nor II follow

(D) Only conclusion I follows.

Which part of the following sentences is erroneous? In case no error,
choose option (D)

I have not gone through (A)/the letter and so I am not aware (B)/ of
its content. (C)/No error (D)

10.

Initial and final part of the paragraph is given below and labelled as
S1 and S6. The rest of the paragraph is broken into 4 parts and
labelled as P, Q. R and S and given in a jumbled form. Rearrange the
jumbled parts (P, Q, R and S) in a way that the resultant paragraph is
coherent and meaningful.

S1: She said on the phone that she would report for duty next
day.
S6: Eventually we reported to the police.

P : We waited for few days when we decided to go to her place.
Q: But she did not.

R: We found it locked.

S: Even after that we waited for her for quite a few days.

The proper sequence should be

(A) PRSQ (B)QPSR  (C)QPRS (D) SQPR

Read the following Passage and answer the Q. 11 and 12.
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English is generally acknowledged to be the world’s most
important language. It is perhaps worth trying to understand
briefly the basis for that evaluation. There are after all thousands
of languages in the world and each seems to be uniquely important
to those who speak it as their native language, the language they
acquired at their mother’s knee. But there are some objective
standards to judge their relative importance.

One criterion is the number of speakers of the language. A second
is the extent to which a language is geographically dispersed; in
how many continents and countries it is used or its knowledge
necessary? A third is its functional load : how extensive is the
range of purposes for which it is used? In particular, to what
extent is it the medium for highly valued cultural manifestations
such as science or literature? A fourth is the economic and
political influence of the native speakers of the language.

11.

' The author wants to evaluate the importance of the English

language, because it is

(A) the language of the Britishers

(B) studied as second language in India
(C) the most useful language of the world
(D) used in many countries

12.

The writer’s evaluation of the importance of the English language is
based on

(A) general notions

(B) linguistic assumptions
(C) subjective feelings
(D)objective criteria

What is the primary objective of the GSAT 20 satellite, recently in
news?

(A)Earth observation (B) Communication
(C) Weather monitoring (D) Navigation

14.

What is the theme of Statistics Day, 20247

(A)Use of data for decision-making

(B) Alignment of State Indicator Framework with National
Indicator Framework

(C) Data for Sustainable Development

(D)End Hunger, Achieve Food Security and Improved Nutrition
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15.

Recently, which organization in India has released Financial
inclusion index?

(A)Reserve Bank of India (B) NABARD
(C) Ministry of Finance (D) World Bank

16. Which among the following is called India’s market watch dog?
(A)RBI  (B)SEBI  (C) NABARD (D) SBI
17. What is the name of the digital circuit that performs arithmetic and
logical operations in computers?
(A) Arithmetic Logic Unit  (B) Digital comparator
(C) Multiplexer (D) CPU
18. Which of the following is a single integrated circuit on which a
CPUs are typically constructed?
(A) Microprocessor  (B) Memory
(C) Motherboard (D) Hard Disk
19. What is the full form of GUI ?
(A) Graphical User Instruction (B) Ground User Interface
(C) General User Instruction (D) Graphical User Interface
20. Which of the following networking is used when centralized
management is desired or if there is little room for cabling?
(A)Local Area Networking
(B) Wide Area Networking
(C)Passive Optical Local Area Networking
(D)Optical Area Networking
21. A post carrying a definite rate of pay sanctioned for a limited time is
a-
(A) Temporary post (B) Permanent post
(C) Supernumerary post (D) Ex-cadre post
22, A tenure post is a-

(A) Ad hoc post (B) Temporary post
(C) Permanent post (D) Ex-cadre post
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23.

Lien on a post shall not be retained or stand terminated if the
employee-

(A) Acquires lien on a permanent post outside his parent cadre

(B) Proceeds on immediate absorption basis to a post / service
outside his service / cadre / post

(C) Overstays at foreign service / deputation beyond the maximum
permissible period

(D) All of the above

24.

Under the revised pay structure, the minimum basic pay and the
maximum basic pay are-

(A)  Rs.18,000 and Rs.2.25,000
(B)  Rs.18,000 and Rs.2.50,000
(C)  Rs.19,000 and Rs.2,25,000
(D) Rs. 16,000 and Rs. 2,50,000

25.

In case of promotion, the employee may opt to get his pay fixed
from the date of promotion or from the date of next increment. The
option is to be exercised-

(A) On the date of promotion

(B) Within 10 days of receipt of order of promotion
(C) Within one month from the date of promotion

(D) On the date of taking charge of the promotion post

26.

What is the limit under GFR 133(1) for directly executing repair
works at its discretion?

(A)Rs. 30 lakhs (B) Rs. 60 lakhs
(C) Rs. 10 lakhs (D) Rs. 50 lakhs

27.

What is the minimum limit of estimated cost of original/minor
works above which the works can be assigned to Public Works
Organization (PWO) such as CPWD, SPWD, etc., at its discretion
under GFR 133(2)?

(A) Rs. 30 lakhs (B) Rs. 60 lakhs (C) 50 lakhs (D) Any value

28.

In terms of procedure for execution of works under GFR 139, for
execution of works under the own arrangements of the Ministry or
Department, limited tenders will be called for works costing less
than ?

(A) Rs. 5 lakhs (B) Rs. 2.5 lakhs
(C) Rs, 10 lakhs (D) Rs. 15 lakhs
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29.

Expression of Interest is required from consultants, if the estimated
cost of consulting services is above

(A)Rs. 5 lakhs (B) Rs. 25 lakhs
(C) Rs. 50 lakhs (D)Rs. 1 Cr.

30.

Mode of disposal of surplus or obsolete or unserviceable goods will
be determined by the competent authority, under GFR 218, if the
residual value of the goods is less than Rs.

(A)1 lakh (B) 2 lakhs (C) 3 lakhs (D) 4 lakhs

31.

Time limit for submission of TA claims in respect of transportation
of personal effects and conveyance, succeeding the date on which
these are actually delivered to the Govt. servant at the new station
is

(A) 30 days (B) 60 days  (C) 120 days (D) 180 days

32,

Up to what age of disabled child, Child Care Leave can be granted to
a female Government employee, waiving the age restriction?

(A) 18 years  (B) 20 years (C)22 years (D) No limit

What is WRIIL?

(A) Women Related Injury and Infection Leave
(B) Worker Related Injury and Illness Leave
(C) Work Related Illness and Injury Leave

(D) Work Retarded Injury and Illness Leave

34.

Which of the following is not correct regarding Maternity Leave?

(A)Maternity leave is granted to female employees with less
than two surviving children.

(B) Maternity leave may be combined with leave of any other
kind

(C) Any kind of leave due and admissible may be granted up to
maximum of 365 days in continuation of maternity leave,
without production of Medical Certificate

(D)Maternity Leave is not debited in the leave account.

35.

According to Leave Rules, an authority competent to grant leave
cannot alter the kind of leave due and applied for under—

(4) Rule 7 (B)Rule 15 (C)Rule20 (D) Rule 27
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36.

Which among the following comes under “Strikes™ as defined in
CCS(Conduct) Rules, 1964?

(A)mass absentation from work without permission

(B)refusal to work overtime where such overtime work is necessary
in the public interest

(C)stoppage or slowing down of work by a group of employees
acting in combination

(D)AIl the above

37.

“Demonstrations and Strikes™ is mentioned in which Rule of
CCS(Conduct) Rules, 1964?

(A)Rule 7 (B)Rule 16 (C)Rule 21 (D)Rule 5

38.

Which among the following shall be deemed to be lacking in
devotion to duty within the meaning of clause (ii) of sub-rule (1) of
CCS(Conduct) Rules 1964?

(A) A Government servant who habitually fails to perform the task
assigned to him within the time set for the purpose

(B) A Government servant who habitually fails to perform the task
with the quality of performance expected of him

(C) Both A and B

(D) Neither A and B

39.

[f an Order of suspension made or deemed to have been made is not
reviewed before expiry of ninety days, can it be valid?

(A) Yes

(B) No

(C) Yes, subject to conditions

(D) Yes, but with the approval of next higher Authority

40.

[s there any provision for imposition of two penalties at a time for
any one misconduct under CCS (CCA) Rules?

(A) No (B) Yes (C) Only one (D) No limit

41.

When can a Government servant exit from Tier I of the New Pension
Scheme?

(A) On or after the age of 55 years

(B) On or after the age of 58 years

(C) On or after the age of 60 years

(D) On or after the age of 62 years
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42.

Which of the following payments shall not be included under
Retirement Benefits vide Rule 3 of CCS (Pension) Rules, 19722

(A) Pension (B) Service Gratuity
(C) Retirement Gratuity (D) Encashment of leave

43.

Section 11 of RTI Act deals with

(A) Transfer of RTI application
(B) Rejection of RTI application
(C) Third party Information

(D) Deemed PIO

44,

GST is a consumption of goods and service tax based on

(A) Development (B) Dividend
(C) Destiny (D) Destination

45.

What is the purpose of a Performance Bank Guarantee (PBG) in
government contracts?

(A) To secure payment to the supplier

(B) To ensure adherence to project timelines
(C) To cover potential cost overruns

(D) To provide indemnity against legal claims

46.

What is the purpose of ‘Precedent book’?

(A) Making entries of dak

(B) Making entries of receipt

(C) Making entries of files

(D) Making entries of important rulings and decisions

47.

Expenditure from public moneys should not be incurred for the
benefit of a particular person or a section of the people, unless?

(A) a claim for the amount could be enforced in a Court of Law

(B) the expenditure is in pursuance of a recognized policy or custom

(C) BothAorB
(D) Either A or B

48.

Govt. policy about exports and imports is called:

(A)Commercial policy (B) Fiscal policy
(C) Monetary policy (D) Finance policy
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49.

According to the NEP 2020, what is the proposed ratio for Gross D
Enrolment Ratio (GER) in higher education by 2035?
(A) 15% (B) 25% (C) 40% (D) 50%

50. Who heads the NITSER Council? C

(A) The President (B) The Prime Minister
(C) The Minister of Education (D) Secretary, Hr. Education
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